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Today:
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Joule Heating:

Running current through a resistance creates heat, in a
phenomenon called Joule heating. In this picture, a
cartridge heater, warmed by Joule heating, is glowing red
hot.
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Electronic color code

e Used to indicate the values of electronic components
* very commonly for resistors, but also for capacitors, inductors

* band #1 is first significant figure
of component value (left side)
* band #2 is the second significant

1st Band Tolerance
2nd Band Multiplier figure
Color Si:i’;:::::"t Multiplier  Tolerance Tem‘;;):;‘;:;"ie“t e band #3 is the decimal
| Black | 0 | k0 | - | 20 | U | multiplier
| Bown | 1 | k0" | st%  F| 100 | S |

m“m_ann band #4 if present, indicates

Orange s 10" tolerance of value in percent (no
Yellow 4 x10% (£5%) - 25 Q

Green 5 x108 05% D 20 z color means 20%)

Blue 6 x108 +0.25% c 10 z

Violet 7 x107 +0.1% B 5 M

Gray 8 x108  30.05% (210%) A 1 K e — { I _’__’ . .

White 9 x10° - - A N '

Gold - x10°" +5% J -

Silver - x1072 +10% K -

= +20% M - :1.(:)(:) I<:(::) '-IIF]F] — :1.(:)’*::1;><::l.(:)11

None
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Which resistor has the T

greater current going AV pat

through it?

CA“'Vy 15 ¢9n oved

A. R, B. R,

C. The current through both resistors is the same




Which resistor has the
greater voltage AV,
(magnitude of potential _T

+

difference) across it?

AV=¢R <R

N
St Cetn b

A.) R, B. R,

C. The voltage across both resistors is the same




oV, Resistors In Series

q?

What should be the value of R intermsof Ry, R,, & Ry
so that the same current flows in both circuits?
Dot Crent. (=C,=Caz (:3
add: vibps: pV,,y= 6V.+oV; ol
_ =R, (+R i+ Ri=(R+R +F,),
€< Lﬁ(ﬂ = ‘:Z' R 'FW Yo'y Fon = qu* ¢

In 52,2




